NPN DIGITAL TRANSISTOR
H C 143E DTC143E,KSR1201
B T.=25
TO-925
Tstg—— -55~150 ./
Tj— 150 ///
Pc—— 300mw B
Vego—— — 50V 1— E
2— C
Vceo—— — 50V 3 B
Vego—— — 10v
lc—— 100mA
B T=25
BVcBo — 50 V lc=10p A 1e=0
BVceo — 50 V Ic=0.1mA 18=0
Icso — 0.1 MA Vee=40V, 1e=0
Iceo — 0.5 PA | Vce=40V, 18=0
leBo — 410 532 760 pA | Ves=dV, 1c=0
HFE 50 Vce=5V, 1c=10mA
VCE(sat) — 0.1 0.3 V Ic=10mA, 18=0.5mA
Vi(off) 0.8 1.1 1.5 v | Vee=5V, 1c=0.1mA
Vi(on) 1.0 1.9 4.0 v | Vee=0.2V, 1c=20mA
R1 3.3 4.7 6.1 kohm
R2/R1 0.9 1.0 1.1
Ft 250 MHzZ Vce=10V, I¢c=5mA
Cob 3.7 pf Ves=10V, fr=1MHz
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